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1. Which of the items listed below would not generally be considered a reason for holding

inventories?
(A) smoothing requirements on operations (B) decoupling internal operations
(C) meeting anticipated demand (D) minimizing carrying costs

(E) reducing the risk of a stockout
2.Which is not considered a holding cost?
(A) interest (B) insurance
(C) depreciation (D) opportunity cost of funds
(E) stockout cost
3.Which of the following is a disadvantage of standardization in product and service design?
(A) increased number of inventory items (B) increased training costs
(C) decreased expenditures on perfecting designs
(D) decreased product variety - (E) all of the above



4.Which of the following is not an action likely to be taken in the last phase of a product life
cycle to prolong the life of a product?
(A) improve the reliability of the product
(B) reduce the cost to produce (and therefore the pricc)
(C) redesign the item
(D) change the packaging
(E) reduce promotions
5.Utilization is defined as the ratio of:
(A)actual output to effective capacity (B)actual output to design capacity
(C) design capacity to effective capacity (D)effective capacity to actual output
(E) design capacity to actual output
6.Which of the following best describes aggregate planning?
(A) the link between intermediate term planning and short term operating decisions
(B) a grouping of planning techniques
(C) make or buy decisions
(D) an attempt to balance capacity and demand
(E) manpower planning
7.The direct result of disaggregating the aggregate plan is the:
(A) marketing plan (B) production plan
(C) master schedule (D) rough-cut capacity plan
(E) material requirements plan
8.The linking of a broad range of manufacturing activities through a computer system is
referred to as:
(A) computer-integrated manufacturing (B) computer-aided design
(C) computer-aided manufacturing (D) automation

(E) a flexible manufacturing system
9. For a certain item, the cost-minimizing order quantity obtained with the basic EOQ model
was 200 units and the inventory carrying cost per unit per year for this item is $3.00.The

total annual ordering cost was
(A)$200 (B)$300 (C)$600 (D)$500 (E)not enough data to determine

10.Which of the following is not a characteristic of layout decisions in system design?
(A) substantial investment of both money and effort
(B) long-term commitment
(C) significant impact on short-term efficiency
(D) usually well-received by operative personnel
(E) layout decisions are related to process strategy
11.Which term is most closely associated with cellular manufacturing?
(A) part families (B) assembly line (C) robotics
(D) CAD (E) CAM ’

A& @ AR




et -2

AR #*=R
12.A production line is to be designed for a job with three tasks. The task times are 0.3
minutes, 1.4 minutes, and 0.7 minutes. The minimum cycle time in minutes, is:

(A)03 (B)0.7 ©)1.4 D)2.4 (E)none of these
13.Lost production time, scrap, and rework are examples of:

(A) internal failure costs (B) external failure costs

(C) appraisal costs (D) prevention costs

(E) replacement costs

14. The philosophy of zero defects is
(A)the result of Deming's research
(B)unrealistic
(C) prohibitively costly
(D)an ultimate goal; in practice, 1 to 2% defects is acceptable
(E) consistent with the commitment to continuous improvement
15. Demand for dishwasher water pumps is 8 per day. The average ordering lead time is 9 days
and the standard deviation of lead time is 2 days. What should the standard deviation of the
lead time demand be? .
(A)about 12 (B)about 16 (C)about24 (D) about48 (E)about 72
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1. A product has the following gross requirements. Lot-for-lot, part period balance, or EOQ lot
sizing is to be considered.

Week 1 2 3 4 5 6
Requirements 50 |80 |90 |50 |30 |60

Other data for this scenario include: setup cost = $250, inventory holding cost $2 per
week. There is no beginning inventory, there are no scheduled receipts. Only mventory
holding cost and set up cost are considered. About the total cost of different lot sizing
method, which of the followmg is true?

(A) Total cost for PPB over the six periods is less than that for EOQ.

(B) Total cost for PPB over the six periods is greater than that for ~lot for lot".

(C) Total cost for EOQ over the six periods is greater than that for lot for lot.

(D) Total cost for EOQ over the six periods is 1550

(E) Total cost for ~lot forlot" over the sixperiods is 1250

(F) Total cost for PPB over the six periods is 2210

2.Given the following data, construct a material requirements plan which will result in 100
units of Parent #1 (P1) at the beginning of week 6, and 200 units of Parent #2 (P2) at
the beginning of week 8. Relating to the MRP calculation, which of the following is
true?



Quantity On Order Lead Order
Item | Parent | (usageper) | On-Hand (due) Time |  Size
P1 - - - - 1 lot-for-lot
P2 - - - - 1 | lot-for-lot
A P1,P2 1,2 70 0 1 500
B | P1L,P2 2,1 50 0 3 250
C AB 34 1000 2000 (wk 2) 2 2000

(A) A planned order release of part B at the beginning of week 5 is 250
(B) A planned order release of part A at the beginning of week 5 is 500
(C) A planned order release of part C at the beginning of week 2 is 2000
(D) Gross requirement of part A at the beginning of week 8 is 400

(E) Net requirement of part C at the beginning of week 4 is 2500

(F) Gross requirement of part B at the beginning of week 7 is 400
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1. is the total of all outputs produced by the
transformation process divided by the total of the inputs.

The is how an organization expects to achieve its missions and goals.

Rl N

delaying the entire project.
4. The is a body of knowledge that deals with anything that limits an organization's

ability to achieve its goals.

5. The is the time between the arrival of raw materials and the shipping of
finished products.

6. is a process for determining customer requirements and translating them into
attributes that each functional area can understand and act upon.

7. is a rapid, efficient production process that responses to constantly changing unique

customer desires.

is extra stock that is carried to serve as a buffer.

A(n) is a listing of the components, their description, and the quantity of each

required to make one unit of a product.

10. A(n) system is a packaged business software that automates and integrates
the majority of their business processes, shares common data and practices across the entire
enterprise, and produces and accesses information in a real-time environment.
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is the amount of times an individual activity in a network can be delayed without





